Marching Band

When the band lines up in ...

* 2s, there is one left over —> ~nust he an odd AUrOe
+ 3s, there is two left over

- 4s, there is three left over

- Bs, there is four left over —> rust @ 1\ o 9

- 653, there is five left over

* 7s, there is no one left over —> vnust e a wultiple of 7

How many students could be in the marching band?
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A1, FR, 105, 134, 14, 19, 133, 1%

d X 2.V 29 ¢
Y <—shoold have 3 A\ 9 3\/(0 W v
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ok 2 The answer 18: 119

Thanks to bit.ly/mathwalks2020 for this puzzle



